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Definition: Rational Number

A rational number is any number that
can be written as a ratio, a fraction

where the numerator and demominator
are integers.

Decimals that terminate or repeat are
rational numbers since they can also
be written as ratios (fractions)

Zero 1s a special
rational number. It

can be written as
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PROPERTIES OF RATIONAL
NUMBERS
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Rational numbers can be positive or negative.

Rational numbers include:
— Integers

— Fractions

These numbers
are all examples
of rational
numbers: 5/8
0.46 -9 3.33
25 and 10%

— Mixed numbers

— Percents

— Terminating decimals
— Repeating decimals
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Rational Numbers
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Rational Numbers

A rational number is a number that can

be written in the form of P/Q where P and Q are
integers and Q is not egual to O.

Example:-5/7, (-2/3)
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dational Numbers 1o Standard Form

Fraction line Numerator

Denominator

b




Representation of Rational Numbers on the Number Line
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To express rational numbers appropriately on the
number line, divide each unit length into as many
number of equal parts as the denominator of the

rational number and then mark the given number on
the number line.



TYPES OF RATIONAL NUMBERS

Positive rational number

Rational number is positive if its numerator and denominator are both
either positive integers or negative integers. Eq : 2/5, -8/-5.

Negative rational number

If either the numerator or the denominator of a rational number is a
negative integer ,then the rational number is called a negative rational
number. Eg: -2/5

Standard form

A rational number is said to be in its standard form if its numerator and
denominator have no common factor other than 1,and its denominator is
a positive integer . Eg:4/7
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RECAPITULATION

Whole

Input set |« -

Alpebraic
EXPressions

Properties
» Commutative
« Associative
» Identity
» Distributive
» Eic.

L

Algorithms
o Vertical multiplication
« Long division
s Eic.

Solving Equations Floachart

Comblne Like terma oo the
wame wde al the cguation

Izalate the Vanaklo

Ellmiaate the Canstant

Ellmimate the Coclflclent

Check the Balution!!"




ASSESSMENT

Answer The Following

1) Find 1he muliplicalive inverss of following
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2) Whali is 1the smaliesl miional numberihal can be formed using 2 of the numbes below in

the fermef 2 2
q
434, 759, 203, 933,175, 355
3 ] 3
Find 1he 7 mlional number= belween —
Q

4} Find 1he follwing and simpliy i 1o owes=l iem:
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Fill in the blanks

3
ihe muliplicative invess of | —
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G) Add 1he following miional numbes
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7 Why orwhy nol 7

. Do the following pair of linear equations have no solution? Justify your answer.

(1) Zx+4y=3 () x =2y
12y +6x=6 y=x
(m) 3x+y-3=0
2
W+ V=2
3

. Do the following equations represent a pair of coincident lines? Justify your answer

: 1 =
(1 Ix+ ;y=3 (1) 2x-3y=1
Tx+3y=17 Gy+dx=-2
(1) 2 ¥ 5
4x+§ > 0
+ + — =
T

. Are the following pair of linear equations consistent? Justify your answer.

: : 3 1
(l] —3.x—4y:12 (]1-) —x-y=_
5 2
4y +3x=12 ! 3 !
= —x_ ek
% 5 . 6
(u1) Zax+by=a () x+F=11
dax +2by-2a=0; a,b#0 2 (2x+6y)=22
. For the pair of equations
Ax+ =1
2x+6y=14

to have infinitely many solutions, the value of A should be 1. Is the statement true?
Give reasons.

. For all real values of ¢, the pair of equations

x-2y=8

S-10y=c¢
have a unique solution. Justify whether 1t 1s true or false.

. The line represented by x = 7 is parallel to the x—axis. Justify whether the

statement 15 true or not.



